

1. int

1/1, 1/0

اس کے لئے

$$y \in \mathbb{R}^n \Rightarrow x^{-1} \cdot P_n \cdot y \Rightarrow y \in \frac{P_n \cdot 1}{P}$$

$$\Rightarrow n \in \mathbb{R}^n \Rightarrow y \in \frac{1}{P} \quad \left. \begin{array}{l} \Rightarrow n \in \mathbb{R}^n \Rightarrow y \in \frac{1}{P} \\ y \in \mathbb{R}^n \Rightarrow n \in \frac{1}{P} \end{array} \right\} \frac{1}{P} \in \frac{1}{P} \Rightarrow \frac{1}{P} \in \frac{1}{P} \Rightarrow \frac{1}{P} \in \frac{1}{P} \quad (1)$$

$D\phi^{-1} = R\phi = [2, 1, 0]$

$$y \in \mathbb{R}^n \Rightarrow \frac{1}{P} \cdot P_n \cdot y \Rightarrow \frac{1}{P} \cdot \frac{1}{P} \cdot 1 \Rightarrow n \in [1, 0, 0] \quad (2)$$

یہ ہے اس کے

1/0

$$y \in \mathbb{R}^n \Rightarrow \frac{1}{P} \cdot P_n \cdot y \Rightarrow n \in [1, 0, 0] \Rightarrow \text{یہ ہے اس کے}$$

$D\phi^{-1} = R\phi = [4, 1, 0]$

$$y \in \mathbb{R}^n \Rightarrow \frac{1}{P} \cdot P_n \cdot y \Rightarrow n \in [1, 0, 0] \Rightarrow y \in \frac{1}{P} \cdot P_n \cdot y \Rightarrow n \in [1, 0, 0] \Rightarrow y \in \frac{1}{P} \cdot P_n \cdot y$$

$$\Rightarrow y \in \frac{1}{P} \cdot P_n \cdot y$$

$$y \in \mathbb{R}^n \Rightarrow \frac{1}{P} \cdot P_n \cdot y \Rightarrow n \in [1, 0, 0] \Rightarrow y \in \frac{1}{P} \cdot P_n \cdot y$$

(3)

$$\Rightarrow n \in [1, 0, 0] \Rightarrow y \in \frac{1}{P} \cdot P_n \cdot y$$

(4)

$$\Rightarrow n \in [1, 0, 0] \Rightarrow y \in \frac{1}{P} \cdot P_n \cdot y$$

$$\Rightarrow y \in \frac{1}{P} \cdot P_n \cdot y \Rightarrow y \in \frac{n \cdot P}{P} \Rightarrow n \in [1, 0, 0]$$

$$\Rightarrow n \in [1, 0, 0] \Rightarrow y \in \frac{1}{P} \cdot P_n \cdot y$$

$$\frac{n \cdot P}{P} \Rightarrow n \in [1, 0, 0]$$

Numerical
Solutions

$$\Rightarrow y \in \frac{1}{P} \cdot P_n \cdot y \Rightarrow y \in \frac{n \cdot P}{P} \Rightarrow n \in [1, 0, 0]$$

$$\Rightarrow y \in \frac{1}{P} \cdot P_n \cdot y \Rightarrow y \in \frac{n \cdot P}{P} \Rightarrow n \in [1, 0, 0]$$

$$(1) n_1 > n_2$$

$$\frac{n_1}{\sqrt{n_1^2 - y^2}} \cdot \frac{n_2}{\sqrt{n_2^2 - y^2}} \rightarrow$$

$$(2) n_1^2 > n_2^2 \Rightarrow n_1 > n_2$$

منه

منه

$$\Rightarrow \frac{1}{f(n)} = \frac{n_2 y}{\sqrt{n_2^2 - y^2}} \Rightarrow \frac{n_2^2 y^2}{\sqrt{n_2^2 - y^2}} = y^2 \cdot \frac{n_2^2}{\sqrt{n_2^2 - y^2}}$$

$$\Rightarrow y = \sqrt{\frac{n_2^2}{n_1^2 - 1}}$$

$$\left. \begin{array}{l} n_2^2 \rightarrow -1 < 4 \\ n_2^2 \rightarrow 1 < 0 \end{array} \right\} \rightarrow \text{for } 1 < 0 \rightarrow 1 < 1$$

$$\frac{1}{f(n)} \left\{ \begin{array}{l} n > 0 \rightarrow \frac{n}{f} \\ n < 0 \rightarrow \frac{n}{f} \end{array} \right. \Rightarrow \frac{a+b}{f} = \frac{1}{f}$$

$$\Rightarrow a = \frac{1}{f} \quad b = \frac{1}{f} \Rightarrow ab = \frac{1}{f^2}$$

$$m = \frac{1}{f} \Rightarrow y = \frac{1}{f} \Rightarrow \frac{1}{f(n)} = \frac{1}{f} \Rightarrow \frac{1}{f(n)} = \frac{1}{f}$$

$$\Rightarrow n = \frac{1}{f(n)} \Rightarrow n = \frac{1}{f} \Rightarrow n = \frac{1}{f} \Rightarrow n = \frac{1}{f}$$

$$\frac{1}{f(n)} = \frac{1}{f} \Rightarrow \frac{1}{f(n)} = \frac{1}{f} \Rightarrow \frac{1}{f(n)} = \frac{1}{f}$$

$$\frac{1}{f(n)} = \frac{1}{f} \Rightarrow \frac{1}{f(n)} = \frac{1}{f} \Rightarrow \frac{1}{f(n)} = \frac{1}{f}$$

$$\frac{1}{f(n)} = \frac{1}{f} \Rightarrow \frac{1}{f(n)} = \frac{1}{f} \Rightarrow \frac{1}{f(n)} = \frac{1}{f}$$

$$g'(r-t) = \frac{1}{f} \Rightarrow n = \frac{1}{f} \Rightarrow \frac{1}{f} = \frac{1}{f}$$

$$t = -1 \Rightarrow \frac{1}{f(n)} = \frac{1}{f} \Rightarrow \frac{1}{f(n)} = \frac{1}{f} \Rightarrow \frac{1}{f(n)} = \frac{1}{f}$$

$$y_{n+1} = \frac{y_n + \delta n + 1}{n+1} \xrightarrow{\text{induction}} \frac{y_n + \delta}{n+1} \Rightarrow y(n) = \frac{y_n + \delta}{n+1} \quad (9)$$

$$\Rightarrow y^{-1}(n) = \frac{y_n + \delta}{n+1} \Rightarrow \frac{y_n + \delta}{n+1} = \frac{y_n + \delta}{n+1} \Rightarrow \quad (10)$$

$$y_n + \delta n - 1 = y_n + \delta n - 1 \rightarrow -y_n + \delta n - 1 \Rightarrow -\frac{y_n}{a} = \delta$$

$$y^{-1}(n) = g(n) \rightarrow y(n) = n + f[n] \quad (11)$$

$$\Rightarrow f^{-1}(n) = g = n - f[g] \Rightarrow g = n - f[g] \quad (12)$$

$$\Rightarrow y - g = n + f[n] - n - f[g] = \frac{y - f[g]}{g}$$